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       _cons     15.10377   .1613139    93.63   0.000      14.7796    15.42794

              

          3     -.6741176   .2601109    -2.59   0.013     -1.19683   -.1514052

          2     -.4190431   .2721454    -1.54   0.130    -.9659398    .1278536

      region  

                                                                              

opdcostaft~w        Coef.   Std. Err.      t    P>|t|     [95% Conf. Interval]

                                                                              

       Total    35.0457368    51   .68717131           Root MSE      =  .79027

                                                       Adj R-squared =  0.0912

    Residual    30.6020829    49  .624532304           R-squared     =  0.1268

       Model    4.44365393     2  2.22182697           Prob > F      =  0.0361

                                                       F(  2,    49) =    3.56

      Source         SS       df       MS              Number of obs =      52


